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2. 71 fAgfafad dfeae wafkfay, I R

dfepami g ?
a-+b

(ia, b € Q a*b= 5



https://dl.doubtnut.com/l/_iUHSIKESwDU0
https://dl.doubtnut.com/l/_rHlxnk2TIuuF
https://dl.doubtnut.com/l/_nncL5nxSUs0z

O @ s
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C.2

D. 1
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f:A - R U®S Bed g df f(z) =x +4, al f

fAgfafEad & O f5T UeR &1 B g ?

A. TcEad

B. Udhdh 3TTTSBIGH

C. 37 dhh HICH

D. 3R Wheld

Answer: B
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B. Udbdh Jid:aydt

C. 3P 3TBIGH

D. 3 & A

Answer: D

O @ s
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10. Ife f(iCl) = f(CB2) = T1 = 9 VZﬁl, Ty € A
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A. Udbp
B.3”R

C. ATtIadp
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D. 3 dbd

Answer: A

O @ s

. f: A — B 3T<8&h Bl &P, i

A.f(A) C B
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D. f(A) # B
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B.fE g e s A= {z,y, 2}, B= {u,v, w},
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B. bijective

C.injective

D. none of these
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14.9¢ f: R — R @I f(z) = z?, a1 f &A1 Bor
g
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B. surjective, not injective.
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A. BHAATT fAaq
B. Ya¥eh fAaH
C. 9T fAam

D. 278 A &Ig gl
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dl (1%2) %5
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